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10.

11.

12.

(a) Discuss the significance of the rite of circumcision in an African

Traditional society you know. (15 marks
(b) Comment on the missionary attitudes to traditional rites in Africa.
(10 marks

“Remaining unmarried was not acceptable in African Traditional Society.”
Comment. (25 marks

Assess the view that a Traditional African Religious person was /is more
committed to his religion than an African Christian person. (25 marks

“Slave trade paved the way for Christianity in East Africa.” Discuss.
(25 marks

Why did the spread of Christianity slacken at the coast of Kenya between
1890 and 1920? (25 marks

‘African Religion and culture are being eroded by Christianity.’ Discuss.
(25 marks

(a) “In African Traditional Society women were considered inferior to
men.’ Comment. (15 marks)

(b) What does Christianity teach about the status of women? (70 marks)

To what extent did Christianity contribute to the anti-colonial struggle in
East Africa? (25 marks)

(a) Discuss the teaching of Buddhism about suffering. (13 marks)

(b) Explain why Buddhism has not had an impact on the peoples of East
Africa. (12 marks)

(a) Account for the increasing divisions in the Church today. (/5 marks)

(b) Explain what the Church can do to resolve the problem of
divisionism. ' (10 marks)

To what extent has Christianity contributed to the rise of Women

Independence Movement today? (25 marks)

(a) Analyse factors which have led to the increase of sex abuse in East
Africa today. (15 marks)

(b) What can the Church do to minimize this problem? (10 marks)






